The snowman that is projected has the following dimensions:

Head radius of 4 units

Chest radius of 8 units

Booty radius of 12 units

Button radius of 1.5 units

Screen Dimensions of 48 by 72 units (vertical by horizontal)

You want to kill the snowman with an icy snowball.  Your job is to find the probabilities of hitting the snowman in the following parts.  After all, you want to maximize your ability to wound the snowman on the first hit!!!

Find the following geometric probabilities.  Show all work.  On the blank spaces, give the proportions and the percentages to the nearest tenth.  Ignore the arms of the snowman in the diagram; they are not used to calculate the geometric probabilities.

A. Head Shot:__________________________

B. Chest Shot:_________________________

C. Booty Shot:_________________________

D. Button Shot:________________________

E. Snowman:__________________________

F. Chest, but no buttons:_________________

G. Miss the Snowman Completely:_____________________

